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MACHINE DESIGN
frgifa o fieR) [Siftrpan 3% : 70
Time allowed : Three Hours] " [Maximum Marks : 70
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Note : Answer any FOUR questions.
(i) TRF F97 & Gt 9T %} FHAR TH 1 §F Hitord |

Solve all parts of a question consecutively together.
(iii) FeA% F¥7 %) 79 98 8 GRE FHifrd |
Start each question on fresh page.
(iv) @ 9TaTaT 1T 817 1 IR 4 37a sgare & = 8 |

Only English version is valid in case of difference in both the languages.
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Two mild steel rods are connected by a knuckle joint to transmit an axial load of
150 kN. Design the joint completely. Assume the working stresses for both the pin

and rod material as 80 N/mm? in tension, 68 N/mm? in shear and 160 N/mm?
in crushing respectively. Assume that the rods to be connected are not very
long.
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Describe effect of load, surface finish and size on endurance limit. (12'%4+5)
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Two shafts are of 100 mm diameter are to be connected by means of two cast iron
couplings. The allowable shearing stress of the bolt material is 45 N/mm?, while

that of the shaft material is 55 N/mm?. Find the size of the bolt to be used. Check
the flange for the induced crushing stress. Is it a safe stress ? If ultimate crushing

stress in cast iron and steel is 550 and 450 N/mm? respectively.
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Describe types and uses of rolling element bearings.

i G 1 STREAT ST T |
Explain design procedure of a power screw.
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Explain method of designating screw threads giving an example.
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Explain design procedure of eccentrically loaded welded joints.
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How strength of a rectangular key is determined ?
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Explain design procedure-of a foot lever.
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Explain design process of a shaft which is subjected to bending moment.
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Explain design process of a cast iron pulley.
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Explain importance of preferred numbers.
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